[d° p_/dndeC

Ratio to ATLAS

0.8

0.6

0.2

0.5

=

900 GeV pp

Underlying Even
I B B B .
Z(pT) vsAQ (n] < 2.5, p,>05GeV,p >15 GeV) m

m ATLAS
—A— Pythia 6.428 370
--¢-- Pythia 6.428 atlas-csc
--*-- Pythia 6.428 d6t
Pythia 6.428 default
---¥-- Pythia 6.428 dw |
—o— Pythia 6.428 p0 o

Rivet 3.1.10, = 3.3M events

0’
LR
..I.Il —<
| ™
[ L A A |2
mE AAALNE— O
.l.. AL Sy B TR 1O
agu®® AT X888
gun® AL 1588 %
 AAA P
L Ny EgEEEEY A AR o T 1.z
SAAAA DA A A A AAAALID o @ T % X
‘“‘“nvnv“nv‘“.u‘ivnvn"“nvnﬂ P A =
O X oY F @®©
ol ooV . ST PP PP N h 8% *¥ -1
X ST AN S 4
) ¥ ¥ =
K Fk Fok ok Ak FK HK 3
c
S
—
Q
%)
— =
9o
o
g

N

—0.5

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


